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1 |BABERZE 5 16 122 256 43 35.5 1 [mEEXRE 5 20 4 2 0 50.0
2 |REAFEXF 5 17 756 246 47 32.5 2 |EEARFEXF 5 17 23 6 4 26.1
3| M EEKRE 5 20 809 250 55 30.9 3 [EB2EEXE 5 19 5 1 1 20.0
4 |1EBKRF 5 16 726 213 52 29.3 4 |BAREEKRF 5 16 23 3 2 13.0
5 | S2EXE 5 19 892 256 66 28.7 5 |ERBXFREREKXRE 5 22 10 1 0 10.0
6 |EREXTFRERIKRE 5 22 1007 285 66 28.3 5 fEBX%E 5 16 10 1 2 10.0
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1 [EREXFEHKE 5 22 1007 28.3 284 1 285 1 [EEXZE 5 16 23 1.44
2 |BARBREKRE 5 16 122 35.5 253 3 256 2 | BB EXRR 5 19 23 1.21
2 |EREXRRE 5 19 892 28.7 255 1 256 3 [EEREEXE 5 17 19 1.12
4 | hMEEXRSF 5 20 809 30.9 248 2 250 4 [BERSXFEHXE 5 22 22 1.00
5 |RRAFEKXF 5 17 756 32.5 240 6 246 5 [MEEXKE 5 20 18 0.90
6 [{EEXZE 5 16 726 29.3 212 1 213 6 |BARBEEKRZE 5 16 14 0.88
1Ty bHEYDTOYIRERY (K) =Bm-HEtEY M
H—TMREK H—JL>—TmRIIE
= + < + o3 o3
# " s + ] # 23
% : % 7 =4
1 [BREEKRE 5 16 | 389 22 154 15 14.6 1 |BEREXFRAKE 5 22 | 454 | 299 0 155 65.9
2 |tEEXRE 5 16 | 360 19 143 | 20 13.8 2 [BEREEXE 5 17 320 | 192 0 128 60.0
3| MEEKRFE 5 20 | 391 22 149 | 23 13.7 3 [BREERE 5 16 | 267 | 157 0 110 58.8
4 |EEARZEKRZE 5 17 | 386 16 164 | 21 13.4 4 [tEBEX%E 5 16 | 348 | 187 0 161 53.7
5 |EBEXRE 5 19 [ 401 17 149 | 27 11.8 5 |2 EXRE 5 19 | 414 | 221 0 193 53.4
6 |EREXTRIAKRE 5 22 | 455 23 142 | 31 1.2 6 |LINEEKRF 5 20 | 404 | 204 0 200 50.5
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